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Ff=>y € f(ABye f(By=ye AU f(B) X
FE AU B A U F(BY;
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ExcARr € B fliy= flo)=y€ fFA B) X
#Bw FA U AB C AU B.

FE fAU B = f(A) U £(B).
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2, M A AD FUFA). Rl &
FUUFCAY D ALRTTH F(FCAY) = AL RS,
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1 1
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B RHR AR g EXBE(—e, 0 |
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2y A EPEER M ENAE, 4 « < 00,
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(2) £1R =, , x, € (0, + o), Bz, < z,, M

a3 3

=2 11—z

>0,

T
(r,+Inzx,)—(z, +Inzx) =zg—z1+lnx—=,
1

H & Xy >$1>0!ﬁm xg‘_31>0!

BEZ 1, mZ >
Jl?l J:l

810.

a811.

Al2,

Ml 9(x,) > v, Yo FF M 2+ ln 2 7ECC, +oo) gl
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LS E AR R RS T

Fili—a) » fr(—x) =— f(x) » (— f,(x))

= fi{x) « f,(x),

LA A R SR E ¥ X

g (=)« fi{—x) =g {x) - (— f(z)

=—g. (&) » f,{x),

FUBRES FEENRELS S5
THHRBPTHELEEBEER, BLBEHRY WEEEKR
AR o L AE A 07
(L y=a(A—22)

.
(3>y=i+"';,,;

(b) y=sinx—cosx+1;

(2) y= 3z — 2%

(D) y=2(z—Dx+1;

6y y = Ef%'

M| D f—)=(—2)[1—(—2)P]=2FQ~5")

= flx),

Bl f(x) Rl R

(2) fl—x) =3(—t—(—x)® =324+ 2° 5 f(x)

B #— flo),

B F(o) BERAEA S NI EF S
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Bl f(o RERH.
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Ald4.
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{5} f(—z) = sin{—a) —cos(—x) +1
=—sinzx —cosx+ 1 7% f{zx)
E_ F— f(l') ’

BEEA f(x) RBRAE M BN A& JE.

_ _ a(—.\-} _l_a—(—z) _ a* +a—:
(6) f(—x) = P = 5

bk f(x) HREH.

FRAABR WL RHBE N TRAMEY-HE
HFEm.

(1) y = cos{x—2);
(3) y=1+4sinnz;
{5} y = sin’x.

B (D) y=rcos{z—2) BRIBHYE AL = 2x

(2) y=cos 4z RAMRK. AW = %

(3) y=1+sinmz RAMEE. AP =2
{4} v = xcos z AR Ay .

(5) y=sintxr= é——%m&x%ﬁﬂﬁﬁﬁﬁzx x.

=f($)|

(2) vy = cosdx;

(4) y = xcos x;

KTARYMH KB
1_
D) y= vzF+1; (2)y=ﬁ—i;
(S)yzﬁ(ad—bc;ﬁm; (4) v = 2sin 37;
-
(5) vy =14 In{z-+2}; .(6)_}'—2,_}_].
B Vy=Vztiza=y 1> REHNy=
2 1.
_l—= 1=y _1—=x
(Z)y-—1+x—-x—1+y RBEENR ¥ T+ ¢
_artb.  _ —dy+é&_
By = g = S0 EBREHR y
—dr+4
T ex—a

(4) y = 2sain 3x=>x = -‘}i—arcsin —%—ﬁ‘ FHR¥Ey=
larcsi =

5 n 5
(y=ldnz+DPr=¢" —2 KBy =
e —2,

(6) y= 85 =27« yf =227 (1 —y) = y=22°

21
Ei1
_ €T
= —Ll_yﬂ‘_t = logz —-y—l_y:;‘ FR¥y= logs —

WM fCo) ERE X LA EN R R () FE
X I ERHEAPELESREEX PR EFXEA
T #.

R T BEM @M.MYz X,
M= max{| M, |- | My |}, J00 | fCz) << M, AT
floy & X LH R

PEEEADFR DYz XLH | O I<M,
B — M< ) <M R f(z) BA FHRM =—M,
XF LR M = M8

Al6. ETHAB Y, Rt FABREHROE A BY IR

Al7.

AP T S HAERE o, Mz, MEBIHE-:

(l)yzug,uzsinx,xlz%,xg=%;
T n
? 3

4
(3)y=“ft_‘9u=l+x2"r1=11xz =2;
WDy=¢e,u=22,=0,z, =1

(2) y=sinu, u=2z, 3, = —, &, =

(5);}':“2,!&:&;,.2:] == 1, Xy =—

. 1
® (Dy=sin‘xy =7y =

2y y=sin2x, ¥, =~!——2§, v, = 1;

() y=VT+& 3 =2, 3, =5

W y=¢" Ly =135 =e

B)y=¢",y =¢,y =e’.

&) leEswD=1[0,1,RTFAFEBRKE

e A

(13 fl2)s

(2) f(sinx);

(3) flz+a) (e2>0);

4 flzt+a)+ flz—ar (a>0).

R (e [0, 1l.Wxe -1, 1], 8CE Lk

—1, 1]

(2) sinz € [0, 11,81 2 & (2&n, 2k=+n], £ C Z. i

E A2k, 2bnt- ], R E Z,

(3) z+a€ [0, 1], Wz € [—a) 1—al, WEXBNR

[—a, 1—al.

(1 m{ﬂéx-l—aé_l. {maéxgl—as
tlax—a< 1, asizs l+a.

FEI%0<a< 5 M Mool —a MELRS

[a, 1—a)sMa>> 5 B EREHZE.

1, |I|<1!
Bid. & flx) ={0! fzi=1g(z) =¢ R flgla)]
""’ls |x|>l»

A gL ()], 3645 tH K7 4 o e BB
B B = REz A F.R

1, | & =<1,
f[g(x):l:f(e‘)sjl(), | {=1,
—1, |e |>1
1, z <0,
B flgla)] — {0, x=0,
—1, x>0.

W e ] AR A 1 -2(a) Fin.
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B
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M HETH k= ABsin ¢ = DCsin g. |
__h
AB = IC = o5,

IABBHERAR So = -é—k(M+AD) e

—é—h[BC + (BC + 2heo1 40)] = S, »

N BC = %—kcot 40°,
, - .
Bl L = AB +BC+CD = s+ 32~ heot 407,

_ 8 2—rc0adl’
Bl L = h+——-—*—s.m40n h.

AR R REE R E A A SR
h>>0,
{i — heot40° > 0
h
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B20. WHEHLEBGHEI 0T, RAE N 6056, | H B
BRXERE. e LETRES T 100 58,
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(2) B P A REEEAN
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= {SIx— 0.0l%, 100<C z <1600,
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(3) BigEFHE P R
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